TIE BIh2P ik = B3P & X FT  FTE#% OR R AS TOV ST TOVEE R4V b SFY Y RF7L A7

1Q 17 7 10 70 1 8 125 0 0 0 3 13 4 3 2
2Q 20 3 9 333 4 8 50 2 2 100 3 12 5 3 0
3Q 21 6 10 60 3 13 231 0 0 0 6 17 6 1 1
4Q 18 6 9 66.7 1 8 125 3 4 75 1 12 6 1 2
HT 37 10 19 52.6 5 16 31.3 2 2 100 6 25 9 6 2
3Qmade 58 16 29 5b.2 8 29 27.6 2 2 100 12 42 15 3
total 76 22 38 57.8 9 37 24.3 5 6 83.3 13 54 21 8
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XA RS BRIh2P Hix E RIh3P F#EE X FT  FTEX OR R AS TOV St TOVE A > b SFY¥ > RFTLAY
10 14 2 8 25 2 8 25 1 2 50 NER “RBR NER B REH
2Q 16 4 12 333 3 9 333 1 3 33.37E8  RER NBR RER B
3Q 13 4 12 333 1 5 20 2 4 50 2 9 3 1 0
4Q 17 8 15 53.3 0 5 0 1 2 50 2 11 0 3

HT 30 6 20 30 5 17 294 3 5 60 8 21 2

3Qmade 43 10 32 31.3 6 22 27.3 5 9 55.6 10 30 5 4

total 60 18 47 38.3 6 27 22.2 6 11 54.6 12 41 5
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